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ACCT 2301

Exam 3 V2 Key


1.
Land acquired so it can be resold in the future is listed in the balance sheet as a(n) 

	a.
	fixed asset

	b.
	current asset

	c.
	investment

	d.
	intangible asset


ANS:
C
DIF:
Easy
OBJ:
10-01

NAT:
AACSB Analytic | AICPA FN-Measurement

2.
Which of the following should be included in the acquisition cost of a piece of equipment?

	a.
	transportation costs

	b.
	installation costs

	c.
	testing costs prior to placing the equipment into production

	d.
	all are correct


ANS:
D
DIF:
Easy
OBJ:
10-01

NAT:
AACSB Analytic | AICPA FN-Measurement

3.
A building with an appraisal value of $137,000 is made available at an offer price of $142,000.  The purchaser acquires the property for $30,000 in cash, a 90-day note payable for $40,000, and a mortgage amounting to $60,000.  The cost basis recorded in the buyer's accounting records to recognize this purchase is 

	a.
	$137,000

	b.
	$142,000

	c.
	$130,000

	d.
	$100,000


ANS:
C
DIF:
Moderate
OBJ:
10-01

NAT:
AACSB Analytic | AICPA FN-Measurement

4.
A new machine with a purchase price of $94,000, with transportation costs of $8,000, installation costs of $6,000, and special acquisition fees of $2,000, would have a cost basis of 

	a.
	$ 96,000

	b.
	$108,000

	c.
	$102,000

	d.
	$110,000


ANS:
D
DIF:
Moderate
OBJ:
10-01

NAT:
AACSB Analytic | AICPA FN-Measurement

5.
Expenditures that add to the utility of fixed assets for more than one accounting period are 

	a.
	committed expenditures

	b.
	revenue expenditures

	c.
	current expenditures

	d.
	capital expenditures


ANS:
D
DIF:
Easy
OBJ:
10-01

NAT:
AACSB Analytic | AICPA FN-Measurement

6.
A machine with a cost of $65,000 has an estimated residual value of $5,000 and an estimated life of 5 years or 15,000 hours. It is to be depreciated by the units-of-production method.  What is the amount of depreciation for the second full year, during which the machine was used 5,000 hours?

	a.
	$8,000

	b.
	$20,000

	c.
	$12,000

	d.
	$21,667


ANS:
B
DIF:
Difficult
OBJ:
10-02

NAT:
AACSB Analytic | AICPA FN-Measurement

7.
Equipment with a cost of $160,000 has an estimated residual value of $10,000 and an estimated life of 5 years or 12,000 hours. It is to be depreciated by the straight-line method. What is the amount of depreciation for the first full year, during which the equipment was used 3,300 hours?

	a.
	$30,000

	b.
	$32,500

	c.
	$34,000

	d.
	$40,000


ANS:
A
DIF:
Difficult
OBJ:
10-02

NAT:
AACSB Analytic | AICPA FN-Measurement

8.
A machine with a cost of $65,000 has an estimated residual value of $5,000 and an estimated life of 4 years or 18,000 hours. What is the amount of depreciation for the second full year, using the double declining-balance method ?

	a.
	$15,000

	b.
	$30,000

	c.
	$16,250

	d.
	$32,500


ANS:
C
DIF:
Difficult
OBJ:
10-02

NAT:
AACSB Analytic | AICPA FN-Measurement

9.
If a fixed asset, such as a computer, were purchased on January 1st for $1,950 with an estimated life of 3 years and a salvage or residual value of $150, the journal entry for monthly expense under straight-line depreciation is:

(Note: EOM indicates the last day of each month.)

	a.
	EOM Depreciation Expense                               50.00

                 Accumulated Depreciation                             50.00

	b.
	EOM Depreciation Expense                             600.00

                 Accumulated Depreciation                            600.00

	c.
	EOM Accumulated Depreciation                      600.00

                 Depreciation Expense                                   600.00

	d.
	EOM Accumulated Depreciation                       50.00

                 Depreciation Expense                                     50.00


ANS:
A
DIF:
Easy
OBJ:
10-02

NAT:
AACSB Analytic | AICPA FN-Measurement

10.
Computer equipment was acquired at the beginning of the year at a cost of $56,000 that has an estimated residual value of $3,000 and an estimated useful life of 5 years. Determine the 2nd year’s depreciation using straight-line depreciation.

	a.
	$11,200

	b.
	$22,400

	c.
	$10,600

	d.
	$13,600


ANS:
C
DIF:
Easy
OBJ:
10-02

NAT:
AACSB Analytic | AICPA FN-Measurement

11.
An asset was purchased for $60,000 and originally estimated to have a useful life of 10 years with a residual value of $3,000.  After two years of straight line depreciation, it was determined that the remaining useful life of the asset was only 2 years with a residual value of $2,000.  Calculate this year’s depreciation using the revised amounts and straight line method.

	a.
	$22,800

	b.
	$11,400

	c.
	$23,300

	d.
	$24,000


ANS:
C
DIF:
Moderate
OBJ:
10-02

NAT:
AACSB Analytic | AICPA FN-Measurement

12.
A fixed asset with a cost of $30,000 and accumulated depreciation of $27,500 is sold for $3,500. What is the amount of the gain or loss on disposal of the fixed asset?

	a.
	$2,500 loss

	b.
	$1,000 loss

	c.
	$2,500 gain

	d.
	$1,000 gain


ANS:
D
DIF:
Difficult
OBJ:
10-03

NAT:
AACSB Analytic | AICPA FN-Measurement

13.
On December 31, Reach It Batting Cages Company has decided to trade-in one of its batting cages for another one that has a cost of $500,000.  The seller of the batting cage is willing to allow a trade-in amount of $12,000. The initial cost of the old equipment was $225,000 with an accumulated depreciation of $195,000.  Depreciation has been taken up to the end of the year.  The difference will be paid in cash.  What is the amount of the gain or loss on this transaction?

	a.
	Loss of $12,000

	b.
	Gain of $12,000

	c.
	Loss of $18,000

	d.
	No loss or gain will be recorded.


ANS:
C
DIF:
Difficult
OBJ:
10-03

NAT:
AACSB Analytic | AICPA FN-Measurement

14.
The Weber Company purchased a mining site for $500,000 on July 1, 2007.  The company expects to mine ore for the next 10 years and anticipates that a total of 100,000 tons will be recovered.  The estimated residual value of the property is $80,000.  During 2007 the company extracted 6,000 tons of ore.  The depletion expense for 2007 is 

	a.
	$12,600

	b.
	$42,000

	c.
	$25,200

	d.
	$50,000


ANS:
C
DIF:
Difficult
OBJ:
10-04

NAT:
AACSB Analytic | AICPA FN-Measurement

15.
XYZ Company purchased a patent from ABC for $144,000.  At the time of purchase the patent had been in existence for 8 years.  What is the first year's amortization?

	a.
	$7,200

	b.
	$18,000

	c.
	$12,000

	d.
	$144,000


ANS:
C
DIF:
Difficult
OBJ:
10-05

NAT:
AACSB Analytic | AICPA FN-Measurement
Chapter 11—Current Liabilities and Payroll

16.
On June 8, Acme Co. issued an $80,000, 6%, 120-day note payable to Still Co.  What is the due date of the note?

	a.
	October 8

	b.
	October 7

	c.
	October 6

	d.
	October 5


ANS:
C
DIF:
Easy
OBJ:
11-01

NAT:
AACSB Analytic | AICPA FN-Measurement

17.
On June 8, Acme Co. issued an $80,000, 6%, 120-day note payable to Still Co.  What is the maturity value of the note?

	a.
	$80,100

	b.
	$84,800

	c.
	$81,600

	d.
	$81,200


ANS:
C
DIF:
Moderate
OBJ:
11-01

NAT:
AACSB Analytic | AICPA FN-Measurement

18.
On June 8, Acme Co. issued an $80,000, 6%, 120-day note payable to Still Co.  Assume that the fiscal year of Acme Co. ends June 30.  What is the amount of interest expense recognized by Acme in the current fiscal year?

	a.
	$293.33

	b.
	$400.00

	c.
	$391.11

	d.
	$1,600.00


ANS:
A
DIF:
Moderate
OBJ:
11-01

NAT:
AACSB Analytic | AICPA FN-Measurement

19.
Current liabilities are due

	a.
	and receivable within one year.

	b.
	but not receivable for more than one year.

	c.
	but not payable for more than one year.

	d.
	and payable within one year.


ANS:
D
DIF:
Easy
OBJ:
11-01

NAT:
AACSB Analytic | AICPA FN-Measurement

20.
Which of the following taxes would be deducted in determining an employee's net pay?

	a.
	FUTA taxes

	b.
	SUTA taxes

	c.
	FICA taxes

	d.
	all of the above


ANS:
C
DIF:
Easy
OBJ:
11-02

NAT:
AACSB Analytic | AICPA FN-Measurement

21.
For which of the following taxes is there no ceiling on the amount of employee annual earnings subject to the tax?

	a.
	only Social Security tax

	b.
	only Medicare tax

	c.
	only unemployment compensation tax

	d.
	none of the above


ANS:
B
DIF:
Easy
OBJ:
11-02

NAT:
AACSB Analytic | AICPA BB-Legal



22.
An employee receives an hourly rate of $25, with time and a half for all hours worked in excess of 40 during a week.  Payroll data for the current week are as follows: hours worked, 46; federal income tax withheld, $350; cumulative earnings for year prior to current week, $99,700; social security tax rate, 6.0% on maximum of $100,000; and Medicare tax rate, 1.5% on all earnings.  What is the gross pay for the employee?

	a.
	$775.00

	b.
	$752.50

	c.
	$1,225.00

	d.
	$1,102.50


ANS:
C
DIF:
Moderate
OBJ:
11-02

NAT:
AACSB Analytic | AICPA FN-Measurement

23.
An employee receives an hourly rate of $25, with time and a half for all hours worked in excess of 40 during a week.  Payroll data for the current week are as follows: hours worked, 46 federal income tax withheld, $350; cumulative earnings for year prior to current week, $99,700; social security tax rate, 6.0% on maximum of $100,000; and Medicare tax rate, 1.5% on all earnings.  What is the net amount to be paid the employee?

	a.
	$875.00

	b.
	$838.62

	c.
	$857.00

	d.
	$1133.14


ANS:
B
DIF:
Moderate
OBJ:
11-02

NAT:
AACSB Analytic | AICPA FN-Measurement

24.
An employee receives an hourly rate of $30, with time and a half for all hours worked in excess of 40 during a week.  Payroll data for the current week are as follows: hours worked, 46; federal income tax withheld, $300; cumulative earnings for year prior to current week, $90,700; social security tax rate, 6.0% on maximum of $100,000; and Medicare tax rate, 1.5% on all earnings.  What is the net amount to be paid the employee?

	a.
	$1,470

	b.
	$1,059.75

	c.
	$1,381.80

	d.
	$1,249.50


ANS:
B
DIF:
Moderate
OBJ:
11-02

NAT:
AACSB Analytic | AICPA FN-Measurement

25.
Which of the following will have no effect on an employee’s take-home pay?

	a.
	Social security tax

	b.
	Unemployment tax

	c.
	Marital status

	d.
	Number of exemptions claimed


ANS:
B
DIF:
Easy
OBJ:
11-02

NAT:
AACSB Analytic | AICPA FN-Measurement

26.
Which of the following are included in the employer's payroll taxes?

	a.
	SUTA taxes

	b.
	FUTA taxes

	c.
	FICA taxes

	d.
	all of the above


ANS:
D
DIF:
Easy
OBJ:
11-02

NAT:
AACSB Analytic | AICPA BB-Legal



27.
Each year there is a ceiling for the amount that is subject to all of the following except

	a.
	Social security tax

	b.
	Federal income tax

	c.
	federal unemployment tax

	d.
	state unemployment tax


ANS:
B
DIF:
Easy
OBJ:
11-02

NAT:
AACSB Analytic | AICPA BB-Legal



28.
Searches Company sells merchandise with a one year warranty.  In 2007, sales consisted of 2,500 units.  It is estimated that warranty repairs will average $10 per unit sold, and 30% of the repairs will be made in 2007 and 70% in 2008.  In the 2007 income statement, Searches should show warranty expense of

	a.
	$25,000

	b.
	$7,500

	c.
	$17,500

	d.
	$0


ANS:
A
DIF:
Moderate
OBJ:
11-05

NAT:
AACSB Analytic | AICPA FN-Measurement

29.
During September, Eltronics sold 100 radios for $50 each.  Each radio cost Eltronics $30 to purchase, and carried a two-year warranty.  If 5% typically need to be replaced over the warranty period and one is actually replaced during September, for what amount in September would Eltronics debit Product Warranty Expense?

	a.
	$50

	b.
	$150

	c.
	$30

	d.
	$120


ANS:
B
DIF:
Moderate
OBJ:
11-05

NAT:
AACSB Analytic | AICPA FN-Measurement

30.
The journal entry a company uses to record the estimated accrued product warranty liability is 

	a.
	debit Product Warranty Expense; credit Product Warranty Payable

	b.
	debit Product Warranty Payable; credit Cash

	c.
	debit Product Warranty Expense; credit Cash

	d.
	debit Product Warranty Payable; credit Product Warranty Expense


ANS:
A
DIF:
Easy
OBJ:
11-05

NAT:
AACSB Analytic | AICPA FN-Measurement

31.
One of the main disadvantages of the corporate form is the 

	a.
	professional management

	b.
	double taxation of dividends

	c.
	charter

	d.
	corporation must issue stock


ANS:
B
DIF:
Easy
OBJ:
13-01

NAT:
AACSB Analytic | AICPA BB-Industry



32.
Which one of the following would not be considered an advantage of the corporate form of organization?

	a.
	Government regulation

	b.
	Separate legal existence

	c.
	Continuous life

	d.
	Limited liability of stockholders


ANS:
A
DIF:
Easy
OBJ:
13-01

NAT:
AACSB Analytic | AICPA BB-Legal



33.
The charter of a corporation provides for the issuance of 100,000 shares of common stock.  Assume that 40,000 shares were originally issued and 5,000 were subsequently reacquired.  What is the number of shares outstanding?

	a.
	5,000

	b.
	35,000

	c.
	45,000

	d.
	55,000


ANS:
B
DIF:
Easy
OBJ:
13-03

NAT:
AACSB Analytic | AICPA FN-Measurement

34.
The price at which a stock can be sold depends upon a number of factors.  Which statement below is not one of those factors?

	a.
	the financial condition, earnings record, and dividend record of the corporation

	b.
	investor expectations of the corporation's earning power

	c.
	how high the par value 

	d.
	general business and economic conditions and prospects


ANS:
C
DIF:
Easy
OBJ:
13-03

NAT:
AACSB Analytic | AICPA FN-Measurement

35.
A corporation issues 2,000 shares of common stock for $ 32,000.  The stock has a stated value of $10 per share.  The journal entry to record the stock issuance would include a credit to Common Stock for 

	a.
	$20,000

	b.
	$32,000

	c.
	$12,000

	d.
	$2,000


ANS:
A
DIF:
Easy
OBJ:
13-03

NAT:
AACSB Analytic | AICPA FN-Measurement

36.
Hurd Company acquired a building valued at $160,000 for property tax purposes in exchange for 10,000 shares of its $5 par common stock.  The stock is widely traded and selling for $15 per share. At what amount should the building be recorded by Hurd Company?

	a.
	$50,000

	b.
	$150,000

	c.
	$160,000

	d.
	$200,000


ANS:
B
DIF:
Easy
OBJ:
13-03

NAT:
AACSB Analytic | AICPA FN-Measurement

37.
If Larger Company issues 1,000 shares of $5 par value common stock for $70,000, the account

	a.
	Common Stock will be credited for $70,000.

	b.
	Paid-in Capital in excess of Par Value will be credited for $5,000.

	c.
	Paid-in Capital in excess of Par Value will be credited for $65,000.

	d.
	Cash will be debited for $65,000.


ANS:
C
DIF:
Moderate
OBJ:
13-03

NAT:
AACSB Analytic | AICPA FN-Measurement

38.
The Snow Corporation issues 10,000 shares of $50 par value preferred stock for cash at $60 per share.  The entry to record the transaction will consist of a debit to Cash for $600,000 and a credit or credits to

	a.
	Preferred Stock for $600,000.

	b.
	Preferred stock for $500,000 and Paid-in Capital in Excess of Par Value—Preferred Stock for $100,000.

	c.
	Preferred Stock for $500,000 and Retained Earnings for $100,000.

	d.
	Paid-in Capital from Preferred Stock for $600,000.


ANS:
B
DIF:
Moderate
OBJ:
13-03

NAT:
AACSB Analytic | AICPA FN-Measurement

39.
Alliance Corp. issues 1,000 shares of $10 par value common stock at $14 per share.  When the transaction is recorded, credits are made to:

	a.
	Common Stock $14,000.

	b.
	Common Stock $10,000 and Paid-in Capital in Excess of Par Value $4,000.

	c.
	Common Stock $10,000 and Paid-in Capital in Excess of Stated Value $4,000.

	d.
	Common Stock $10,000 and Retained Earnings $4,000.


ANS:
B
DIF:
Easy
OBJ:
13-03

NAT:
AACSB Analytic | AICPA FN-Measurement

40.
New Corp. issues 1,000 shares of $10 par value common stock at $15 per share.  When the transaction is recorded, credits are made to:

	a.
	Common Stock $10,000 and Paid-in Capital in Excess of Par Value $5,000.

	b.
	Common Stock $10,000 and Retained Earnings $5,000.

	c.
	Common Stock $10,000 and Paid-in Capital in Excess of Stated Value $5,000.

	d.
	Common Stock $15,000.


ANS:
A
DIF:
Easy
OBJ:
13-03

NAT:
AACSB Analytic | AICPA FN-Measurement

41.
On January 1, 20xx, Sunshine Corporation had 40,000 shares of $10 par value common stock issued and outstanding.  All 40,000 shares had been issued in a prior period at $20.00 per share.  On February 1, 20xx, Sunshine purchased 2,000 shares of treasury stock for $23 per share and later sold the treasury shares for $21 per share on March 1, 20xx.

The journal entry to record the purchase of the treasury shares on February 1, 20xx, would include a 

	a.
	credit to Treasury Stock for $46,000.

	b.
	debit to Treasury Stock for $46,000.

	c.
	debit to a loss account for $6,000

	d.
	credit to a gain account for $6,000.


ANS:
B
DIF:
Moderate
OBJ:
13-03

NAT:
AACSB Analytic | AICPA FN-Measurement

42.
The charter of a corporation provides for the issuance of 100,000 shares of common stock.  Assume that 50,000 shares were originally issued and 5,000 were subsequently reacquired.  What is the amount of cash dividends to be paid if a $1 per share dividend is declared?

	a.
	$50,000

	b.
	$5,000

	c.
	$100,000

	d.
	$45,000


ANS:
D
DIF:
Moderate
OBJ:
13-04

NAT:
AACSB Analytic | AICPA FN-Measurement

43.
The date on which a cash dividend becomes a binding legal obligation is on the

	a.
	declaration date.

	b.
	date of record.

	c.
	payment date.

	d.
	last day of the fiscal year end.


ANS:
A
DIF:
Easy
OBJ:
13-04

NAT:
AACSB Analytic | AICPA BB-Legal



44.
Which of the following is the appropriate general journal entry to record the declaration of a cash dividends?

	a.
	Retained earnings

            Cash

	b.
	Cash Dividends payable

            Cash

	c.
	Paid-in capital

            Cash Dividends payable

	d.
	Cash Dividends

            Cash Dividends Payable


ANS:
D
DIF:
Easy
OBJ:
13-04

NAT:
AACSB Analytic | AICPA FN-Measurement

45.
The liability for a dividend is recorded on which of the following dates?

	a.
	the date of record

	b.
	the date of payment

	c.
	the date of announcement

	d.
	the date of declaration


ANS:
D
DIF:
Easy
OBJ:
13-04

NAT:
AACSB Analytic | AICPA FN-Measurement

46.
When a stock dividend is declared, which of the following accounts is credited?

	a.
	Common Sock

	b.
	Dividend Payable

	c.
	Stock Dividends Distributable

	d.
	Retained Earnings


ANS:
C
DIF:
Easy
OBJ:
13-04

NAT:
AACSB Analytic | AICPA FN-Measurement


47.
Which statement below is not a reason for a corporation to buy back its own stock.

	a.
	resale to employees

	b.
	bonus to employees

	c.
	for supporting the market price of the stock

	d.
	to increase the shares outstanding


ANS:
D
DIF:
Easy
OBJ:
13-05

NAT:
AACSB Analytic | AICPA FN-Measurement

48.
How is treasury stock shown on the balance sheet?

	a.
	as an asset

	b.
	as a decrease in stockholders' equity

	c.
	as an increase in stockholders' equity

	d.
	treasury stock is not shown on the balance sheet


ANS:
B
DIF:
Easy
OBJ:
13-05

NAT:
AACSB Analytic | AICPA FN-Measurement

49.
The excess of sales price of treasury stock over its cost should be credited to 

	a.
	Treasury Stock Receivable

	b.
	Premium on Capital Stock

	c.
	Paid-In Capital from Sale of Treasury Stock

	d.
	Income from Sale of Treasury Stock


ANS:
C
DIF:
Easy
OBJ:
13-05

NAT:
AACSB Analytic | AICPA FN-Measurement

50.
What is the total stockholders' equity based on the following account balances?

	Common Stock
	$400,000

	Paid-In Capital in Excess of Par
	40,000

	Retained Earnings
	190,000

	Treasury Stock
	20,000


	a.
	$640,000

	b.
	$630,000

	c.
	$610,000

	d.
	$650,000


ANS:
C
DIF:
Easy
OBJ:
13-05

NAT:
AACSB Analytic | AICPA FN-Measurement

51.
Treasury stock that had been purchased for $5,400 last month was reissued this month for $7,500.  The journal entry to record the reissuance would include a credit to 

	a.
	Treasury Stock for $7,500

	b.
	Paid-In Capital from Treasury Stock for $7,500 

	c.
	Paid-In Capital in Excess of Par/Common for $2,100 

	d.
	Paid-In Capital from Treasury Stock for $2,100


ANS:
D
DIF:
Easy
OBJ:
13-05

NAT:
AACSB Analytic | AICPA FN-Measurement

52.
A corporation purchased 1,000 shares of its $5 par common stock at $10 and subsequently sold 500 of the shares at $20.  What is the amount of revenue realized from the sale?

	a.
	$0

	b.
	$5,000

	c.
	$2,500

	d.
	$10,000


ANS:
A
DIF:
Easy
OBJ:
13-05

NAT:
AACSB Analytic | AICPA FN-Measurement
